Canad. Math. Bull. Vol. 58 (4), 2015 pp. 713-722 http://dx.doi.org/10.4153/CMB-2015-030-3 © Canadian Mathematical Society 2015



On the Maximum Curvature of Closed Curves in Negatively Curved Manifolds

Simon Brendle and Otis Chodosh

Abstract. Motivated by Almgren's work on the isoperimetric inequality, we prove a sharp inequality relating the length and maximum curvature of a closed curve in a complete, simply connected manifold of sectional curvature at most –1. Moreover, if equality holds, then the norm of the geodesic curvature is constant and the torsion vanishes. The proof involves an application of the maximum principle to a function defined on pairs of points.

1 Introduction

One of the most important results in geometric analysis is the classical isoperimetric inequality in Euclidean space. There are a number of interesting generalizations of this classical inequality. For example, in 1980, Gromov [9] proved a sharp isoperimetric inequality for manifolds with Ricci curvature bounded below by a positive constant. In 1992, Kleiner [12] obtained a sharp isoperimetric inequality for complete, simply connected three-manifolds with sectional curvature $K \leq -1$. To state this result, suppose that Ω is a domain in a complete, simply connected three-manifolds with sectional curvature $K \leq -1$. To state this result, suppose that Ω is a domain in a complete, simply connected three-manifold with sectional curvature at most -1, and *B* is a geodesic ball in hyperbolic space \mathbb{H}^n such that $vol(\Omega) = vol(B)$. Then $area(\partial\Omega) \geq area(\partial B)$ (*cf.* [12, Theorem 2]). We note that Schulze [14] later found an alternative proof using geometric flow techniques. Moreover, Croke [6] obtained a similar result in dimension 4. Finally, in dimension 3, Bray [2] established a sharp volume comparison theorem involving scalar curvature. In addition, Bray analyzed the isoperimetric profile of certain asymptotically flat manifolds arising in general relativity (see also [7, 8]).

In a different direction, Almgren [1] proved an isoperimetric inequality for least area surfaces in Euclidean space. More precisely, suppose that V is a closed *m*-dimensional surface in \mathbb{R}^n such that $\operatorname{vol}_m(V) = \operatorname{vol}_m(\partial B^{m+1})$, where B^{m+1} denotes the unit ball in \mathbb{R}^{m+1} . Then there exists an (m + 1)-dimensional surface Σ in \mathbb{R}^n with boundary V such that $\operatorname{vol}_{m+1}(\Sigma) \leq \operatorname{vol}_{m+1}(B^{m+1})$. Almgren's inequality is closely related to the Sobolev inequality of Michael and Simon [13], and to Gromov's filling radius inequality (*cf.* [10]).

The isoperimetric inequalities in [1] and [12] both rely on a sharp lower bound for the supremum of the mean curvature.

Received by the editors June 25, 2014.

Published electronically April 30, 2015.

The first author was supported in part by the National Science Foundation under grants DMS-0905628 and DMS-1201924. The second author was supported in part by a National Science Foundation Graduate Research Fellowship DGE-1147470.

AMS subject classification: 53C20.

Keywords: manifold, curvature.

Theorem 1.1 (F. J. Almgren, Jr. [1]) Suppose that V is a closed m-dimensional surface in \mathbb{R}^n such that $\operatorname{vol}_m(V) = \operatorname{vol}_m(\partial B^{m+1})$, where B^{m+1} denotes the unit ball in \mathbb{R}^{m+1} . Then $\sup |H| \ge m$, where H denotes the mean curvature vector of V.

Theorem 1.2 (B. Kleiner [12]) Let V be a closed surface in a complete, simply connected three-manifold with sectional curvature at most -1, and let B be a geodesic ball in hyperbolic space \mathbb{H}^n such that $\operatorname{area}(V) = \operatorname{area}(\partial B)$. Then the supremum of the mean curvature of V is bounded from below by the mean curvature of ∂B .

We note that Simon [15] has obtained a remarkable estimate for the diameter of a surface in terms of the L^2 -norm of its mean curvature.

In this paper, we prove a sharp estimate for the maximum curvature of a closed curve in a complete, simply connected manifold of sectional curvature at most –1.

Theorem 1.3 Let *M* be a complete, simply connected manifold of dimension *n* with sectional curvature $K \leq -1$. Then any closed curve in *M* satisfies the inequality

$$L^2 \sup(|\kappa|^2 - 1) \ge 4\pi^2$$

where *L* denotes the length of the curve and κ denotes its geodesic curvature. Finally, if equality holds, then the geodesic curvature κ is a parallel section of the normal bundle, and the two-plane spanned by the tangent vector τ and the geodesic curvature κ has sectional curvature equal to -1.

In particular, if M is the n-dimensional hyperbolic space, then equality holds if and only if the curve is a circle.

The proof of Theorem 1.3 is quite different from Theorems 1.1 and 1.2. While the latter results rely on tube formulae and the Gauss–Bonnet theorem, the proof of Theorem 1.3 involves an application of the maximum principle to a suitable two-point function. This method goes back to the work of Huisken [11] on the curve shortening flow and plays a key role in the proof of the Lawson conjecture (*cf.* [3]). We refer to [4] and [5] for some recent surveys on this topic.

We now sketch the main idea of the proof. Let $F: \mathbb{R}/(L\mathbb{Z}) \to M$ be a closed curve of length *L* whose geodesic curvature satisfies $\sup |\kappa| \le \sqrt{1 + 4\pi^2/L^2}$. In Section 2, we use the maximum principle to show that

$$2\sinh\frac{\rho(F(x),F(y))}{2} \le \frac{L}{\pi}\sin\frac{\pi d(x,y)}{L}$$

where ρ denotes the Riemannian distance in *M* and d(x, y) denotes the distance of two points $x, y \in \mathbb{R}/(L\mathbb{Z})$. This estimate is the opposite of the one established in [11]. While Huisken bounds the extrinsic distance of two points from below by their intrinsic distance, our estimate gives an upper bound for the extrinsic distance in terms of the intrinsic distance. In Section 3, we fix an arbitrary point *y* and consider the function

$$v(x) := 4 \sinh^2 \frac{\rho(F(x), F(y))}{2} - \frac{L^2}{\pi^2} \sin^2 \frac{\pi d(x, y)}{L} \le 0.$$

A calculation shows that the derivatives of the function v at the point y vanish up to third order and the fourth derivative is nonnegative. Since $v \le 0$, it follows that

the fourth derivative of *v* at the point *y* must be equal to 0. This implies that $|\kappa| = \sqrt{1 + 4\pi^2/L^2}$ at each point on the curve. Having established that fact, we next show that the fifth derivative of *v* at the point *y* vanishes, and the sixth derivative is non-negative. Again, this implies that the sixth derivative of *v* at the point *y* is equal to 0. From this we deduce that the torsion is equal to 0.

2 Application of the Two-Point Maximum Principle

Proposition 2.1 Let *M* be a complete, simply connected manifold of dimension *n* with sectional curvature $K \leq -1$. Let $\rho(p, q)$ denote the distance between two points $p, q \in M$, and let $F: \mathbb{R}/(L\mathbb{Z}) \to M$ be a closed curve of length *L* whose geodesic curvature satisfies $\sup |\kappa| \leq \sqrt{1 + 4\pi^2/L^2}$. Then

$$2\sinh\frac{\rho(F(x),F(y))}{2} \leq \frac{L}{\pi}\sin\frac{\pi d(x,y)}{L},$$

where d(x, y) denotes the distance of two points $x, y \in \mathbb{R}/(L\mathbb{Z})$.

Proof Suppose that the assertion is false. Then

$$\alpha \coloneqq \inf_{x \neq y} \frac{L}{2\pi} \frac{\sin \frac{\pi d(x,y)}{L}}{\sinh \frac{\rho(F(x),F(y))}{2}} < 1.$$

We define

$$Z(x, y) \coloneqq 2\alpha \sinh \frac{\rho(F(x), F(y))}{2} - \frac{L}{\pi} \sin \frac{\pi d(x, y)}{L}$$

for all points $x, y \in \mathbb{R}/(L\mathbb{Z})$. Clearly, $Z(x, y) \le 0$ for all points $x, y \in \mathbb{R}/(L\mathbb{Z})$. Moreover, since $\alpha < 1$, we can find a pair of points $\overline{x} \neq \overline{y}$ such that $Z(\overline{x}, \overline{y}) = 0$. For abbreviation, we put $a := \frac{\rho(F(\overline{x}), F(\overline{y}))}{2}$. Moreover, let $\gamma: [-a, a] \to M$ be a unit-speed geodesic such that $\gamma(-a) = F(\overline{x})$ and $\gamma(a) = F(\overline{y})$.

In the sequel, we identify \overline{x} and \overline{y} with points in the interval [0, L]. Without loss of generality, we may assume that $0 \le \overline{x} \le \overline{y} \le \frac{1}{2}L$. Since the function Z(x, y) attains its global maximum at the point $(\overline{x}, \overline{y})$, we have

$$0 = \frac{d}{ds} Z(\overline{x} + s, \overline{y}) \Big|_{s=0} = -\alpha \cosh a \langle \gamma'(-a), F'(\overline{x}) \rangle + \cos \frac{\pi d(\overline{x}, \overline{y})}{L},$$

$$0 = \frac{d}{ds} Z(\overline{x}, \overline{y} - s) \Big|_{s=0} = -\alpha \cosh a \langle \gamma'(a), F'(\overline{y}) \rangle + \cos \frac{\pi d(\overline{x}, \overline{y})}{L}.$$

In particular, we can write

$$F'(\overline{x}) = \frac{\cos\frac{\pi d(\overline{x},\overline{y})}{L}}{\alpha \cosh a} \gamma'(-a) + \xi \quad \text{and} \quad F'(\overline{y}) = \frac{\cos\frac{\pi d(\overline{x},\overline{y})}{L}}{\alpha \cosh a} \gamma'(a) + \eta,$$

where $\langle \xi, \gamma'(-a) \rangle = \langle \eta, \gamma'(a) \rangle = 0.$

S. Brendle and O. Chodosh

We next compute

$$0 \ge \frac{d^2}{ds^2} Z(\overline{x} + s, \overline{y} - s) \Big|_{s=0}$$

= $-\alpha \cosh a \langle \gamma'(-a), \kappa(\overline{x}) \rangle + \alpha \cosh a \langle \gamma'(a), \kappa(\overline{y}) \rangle$
+ $\frac{1}{2} \alpha \sinh a (\langle \gamma'(-a), F'(\overline{x}) \rangle + \langle \gamma'(a), F'(\overline{y}) \rangle)^2$
+ $\alpha \cosh a I_{\gamma}(V, V) + \frac{4\pi}{L} \sin \frac{\pi d(\overline{x}, \overline{y})}{L}.$

Here, *V* is the unique Jacobi field along γ satisfying $V(-a) = \xi$ and $V(a) = \eta$. Moreover, I_{γ} denotes the index form; that is,

$$I_{\gamma}(V,V) = \int_{-a}^{a} (|D_{t}V(t)|^{2} - R(\gamma'(t),V(t),\gamma'(t),V(t))) dt.$$

Note that

$$|\xi| = |\eta| = \sqrt{1 - \frac{\cos^2 \frac{\pi d(\overline{x}, \overline{y})}{L}}{\alpha^2 \cosh^2 a}}.$$

Since M has sectional curvature at most -1, standard Jacobi field estimates imply that

$$|V(t)| \leq \frac{\cosh t}{\cosh a} \sqrt{1 - \frac{\cos^2 \frac{\pi d(\overline{x}, \overline{y})}{L}}{\alpha^2 \cosh^2 a}}$$

for all $t \in [-a, a]$. Moreover, equality holds for t = -a and t = a. Consequently,

$$\begin{aligned} &-\frac{d}{dt}|V(t)|^2\Big|_{t=-a} \ge 2\frac{\sinh a}{\cosh a}\Big(1 - \frac{\cos^2\frac{\pi d(\overline{x},\overline{y})}{L}}{\alpha^2\cosh^2 a}\Big),\\ &\frac{d}{dt}|V(t)|^2\Big|_{t=a} \ge 2\frac{\sinh a}{\cosh a}\Big(1 - \frac{\cos^2\frac{\pi d(\overline{x},\overline{y})}{L}}{\alpha^2\cosh^2 a}\Big).\end{aligned}$$

This gives

$$I_{\gamma}(V,V) = \frac{1}{2} \frac{d}{dt} |V(t)|^{2} \Big|_{t=a} - \frac{1}{2} \frac{d}{dt} |V(t)|^{2} \Big|_{t=-a} \ge 2 \frac{\sinh a}{\cosh a} \Big(1 - \frac{\cos^{2} \frac{\pi d(\overline{x},\overline{y})}{L}}{\alpha^{2} \cosh^{2} a} \Big).$$

Moreover, using the inequality sup $|\kappa| \le \sqrt{1 + 4\pi^2/L^2}$, we obtain

$$\begin{aligned} \langle \gamma'(-a), \kappa(\overline{x}) \rangle &\leq \sqrt{1 - \langle \gamma'(-a), F'(\overline{x}) \rangle^2} |\kappa(\overline{x})| \leq \sqrt{1 - \frac{\cos^2 \frac{\pi d(\overline{x}, \overline{y})}{L}}{\alpha^2 \cosh^2 a}} \sqrt{1 + \frac{4\pi^2}{L^2}}, \\ -\langle \gamma'(a), \kappa(\overline{y}) \rangle &\leq \sqrt{1 - \langle \gamma'(a), F'(\overline{y}) \rangle^2} |\kappa(\overline{y})| \leq \sqrt{1 - \frac{\cos^2 \frac{\pi d(\overline{x}, \overline{y})}{L}}{\alpha^2 \cosh^2 a}} \sqrt{1 + \frac{4\pi^2}{L^2}}. \end{aligned}$$

Putting these facts together, we obtain

$$\begin{split} 0 &\geq \frac{d^2}{ds^2} Z(\overline{x} + s, \overline{y} - s) \Big|_{s=0} \\ &\geq -2\alpha \cosh a \sqrt{1 - \frac{\cos^2 \frac{\pi d(\overline{x}, \overline{y})}{L}}{\alpha^2 \cosh^2 a}} \sqrt{1 + \frac{4\pi^2}{L^2}} \\ &+ 2\alpha \sinh a \frac{\cos^2 \frac{\pi d(\overline{x}, \overline{y})}{L}}{\alpha^2 \cosh^2 a} + 2\alpha \sinh a \Big(1 - \frac{\cos^2 \frac{\pi d(\overline{x}, \overline{y})}{L}}{\alpha^2 \cosh^2 a}\Big) + \frac{4\pi}{L} \sin \frac{\pi d(\overline{x}, \overline{y})}{L} \\ &= -2\sqrt{\alpha^2 \cosh^2 a - \cos^2 \frac{\pi d(\overline{x}, \overline{y})}{L}} \sqrt{1 + \frac{4\pi^2}{L^2}} \\ &+ 2\alpha \sinh a + \frac{4\pi}{L} \sin \frac{\pi d(\overline{x}, \overline{y})}{L} \\ &= -2\sqrt{\alpha^2 - 1 + \alpha^2 \sinh^2 a + \sin^2 \frac{\pi d(\overline{x}, \overline{y})}{L}} \sqrt{1 + \frac{4\pi^2}{L^2}} \\ &+ 2\alpha \sinh a + \frac{4\pi}{L} \sin \frac{\pi d(\overline{x}, \overline{y})}{L} \\ &= -2\sqrt{\alpha^2 - 1 + \alpha^2 (1 + \frac{4\pi^2}{L^2})} \sinh^2 a \sqrt{1 + \frac{4\pi^2}{L^2}} + 2\alpha \Big(1 + \frac{4\pi^2}{L^2}\Big) \sinh a. \end{split}$$

This contradicts the assumption that $\alpha < 1$.

3 **Proof of Theorem 1.3**

In this section, we describe how Theorem 1.3 follows from Proposition 2.1. We first collect several auxiliary results. In this section, we fix a point $q \in M$, and denote by ρ_q the Riemannian distance from q.

Lemma 3.1 We have $\nabla \rho_q^2 = 0$, $D^2 \rho_q^2 = 2g$, and $D^3 \rho_q^2 = 0$ at the point q. Moreover, at the point q, we have

$$(D^4 \rho_q^2)_q (V, W, V, W) = (D^4 \rho_q^2)_q (W, V, V, W) = \frac{2}{3} R(V, W, V, W),$$
$$(D^4 \rho_q^2)_q (V, V, W, W) = -\frac{4}{3} R(V, W, V, W).$$

Proof The first statement is standard, so we focus on the second statement. We define a vector field *S* by $S = \rho_q \nabla \rho_q$. Clearly, $D_S S = S$ and $D_{S,S}^2 S = 0$. We next assume that *W* is an arbitrary smooth vector field defined in a neighborhood of *q*. We define a (1,1)-tensor *Q* by $Q(W) := D_W S$.

Differentiating the identity $D_S S = S$ gives

$$D_{W,S}^{2}S = D_{W}D_{S}S - D_{D_{W}S}S = Q(W) - Q(Q(W)),$$

$$D_{S,W}^{2}S = D_{W,S}^{2}S - \sum_{i} R(S, W, S, e_{i})e_{i}$$

$$= Q(W) - Q(Q(W)) - \sum_{i} R(S, W, S, e_{i})e_{i}.$$

S. Brendle and O. Chodosh

Consequently, we have

$$(D_SQ)(W) = Q(W) - Q(Q(W)) - \sum_i R(S, W, S, e_i)e_i$$

in a neighborhood of the point q. Integrating this identity along radial geodesics, we conclude that

$$Q(W) = W - \frac{1}{3} \sum_{i} R(S, W, S, e_i) e_i + O(\rho_q^3)$$

in a neighborhood of the point *q*.

We next differentiate the identity $D_{S,S}^2 S = 0$. This gives

$$D_{W,S,S}^{3}S = D_{W}(D_{S,S}^{2}S) - D_{D_{W}S,S}^{2}S - D_{S,D_{W}S}^{2}S$$

= $-2Q(Q(W)) + 2Q(Q(Q(W))) + \sum_{i} R(S,Q(W),S,e_{i})e_{i}$
= $\frac{1}{3}\sum_{i} R(S,W,S,e_{i})e_{i} + O(\rho_{q}^{3})$

in a neighborhood of q. In particular, we have

$$\langle D^3_{W,S,S}S,W\rangle = \frac{1}{3}R(S,W,S,W) + O(\rho_q^3).$$

Since $\nabla \rho_q^2 = 2S$, it follows that

$$(D^4 \rho_q^2)(W, S, W, S) = (D^4 \rho_q^2)(W, S, S, W) = \frac{2}{3}R(S, W, S, W) + O(\rho_q^3)$$

in a neighborhood of q. Consequently, at the point q, we have

$$(D^4 \rho_q^2)(W, V, W, V) = (D^4 \rho_q^2)(W, V, V, W) = \frac{2}{3}R(V, W, V, W)$$

for all tangent vectors V, W. Finally, a standard commutator identity gives

$$(D^{3}\rho_{q}^{2})(V, W, V) - (D^{3}\rho_{q}^{2})(W, V, V) = \sum_{i} R(V, W, V, e_{i}) D\rho_{q}^{2}(e_{i}),$$

hence

$$(D^{4}\rho_{q}^{2})(W, V, W, V) - (D^{4}\rho_{q}^{2})(W, W, V, V) = \sum_{i} R(V, W, V, e_{i})(D^{2}\rho_{q}^{2})(W, e_{i}) + \sum_{i} (D_{W}R)(V, W, V, e_{i})D\rho_{q}^{2}(e_{i}).$$

In particular, we have

$$(D^4\rho_q^2)(W,V,W,V)-(D^4\rho_q^2)(W,W,V,V)=2R(V,W,V,W)$$

at the point q. Thus, we conclude that

$$(D^4 \rho_q^2)(W, W, V, V) = -\frac{4}{3}R(V, W, V, W).$$

This proves the assertion.

Lemma 3.2 At the point q, we have $(D^{l+1}\rho_q^2)(V, \ldots, V, W) = 0$ for all $l \ge 2$ and all vectors $V, W \in T_q M$.

Proof Recall that the vector field $S = \rho_q \nabla \rho_q$ satisfies $D_{S,S}^2 S = 0$. By induction on l, we can show that $D_{S,...,S}^l S = 0$ for all $l \ge 2$. In particular, at the point q, we have $D_{V,...,V}^l S = 0$ for all $l \ge 2$ and all vectors $V \in T_q M$. The assertion follows.

Lemma 3.3 At the point q, we have

$$(D^{5}\rho_{q}^{2})(V, V, V, V, W) = (D^{5}\rho_{q}^{2})(V, V, V, W, V) = (D^{5}\rho_{q}^{2})(V, V, W, V, V)$$
$$= (D^{5}\rho_{q}^{2})(V, W, V, V, V) = (D^{5}\rho_{q}^{2})(W, V, V, V, V) = 0$$

for all vectors $V, W \in T_q M$.

Proof By Lemma 3.2, we have

$$(D^5 \rho_q^2)(V, V, V, V, W) = (D^5 \rho_q^2)(V, V, V, W, V) = 0$$

at the point q. Using standard commutator identities, we obtain

$$(D^{5}\rho_{q}^{2})(V, V, V, W, V) - (D^{5}\rho_{q}^{2})(V, V, W, V, V)$$

= $\sum_{i} R(V, W, V, e_{i})(D^{3}\rho_{q}^{2})(V, V, e_{i}) + 2\sum_{i} (D_{V}R)(V, W, V, e_{i})(D^{2}\rho_{q}^{2})(V, e_{i})$
+ $\sum_{i} (D_{V,V}^{2}R)(V, W, V, e_{i})D\rho_{q}^{2}(e_{i})$
= $4(D_{V}R)(V, W, V, V) = 0$

and

$$(D^{5}\rho_{q}^{2})(V, V, W, V, V) - (D^{5}\rho_{q}^{2})(V, W, V, V, V)$$

= $2\sum_{i} R(V, W, V, e_{i})(D^{3}\rho_{q}^{2})(V, V, e_{i}) + 2\sum_{i} (D_{V}R)(V, W, V, e_{i})(D^{2}\rho_{q}^{2})(V, e_{i})$
= $4(D_{V}R)(V, W, V, V) = 0$

at the point *q*. Consequently, $(D^5 \rho_q^2)(V, V, W, V, V) = (D^5 \rho_q^2)(V, W, V, V, V) = 0$ at the point *q*. Finally, since $D^3 \rho_q^2 = 0$ at the point *q*, we have

$$(D^{5}\rho_{q}^{2})(V, W, V, V, V) - (D^{5}\rho_{q}^{2})(W, V, V, V, V) = 0$$

at the point q. Therefore, we have $(D^5 \rho_q^2)(W, V, V, V, V) = 0$ at the point q, as claimed.

We now describe the proof of Theorem 1.3. Let *M* be a complete, simply connected manifold of dimension *n* with sectional curvature $K \leq -1$. Suppose that $F: \mathbb{R}/(L\mathbb{Z}) \to M$ is a closed curve of length *L* whose geodesic curvature satisfies $\sup |\kappa| \leq \sqrt{1 + 4\pi^2/L^2}$. Moreover, we denote by τ the unit tangent vector field to the curve. We claim that $|\kappa| = \sqrt{1 + 4\pi^2/L^2}$, $D_{\tau}^{\perp}\kappa = 0$, and $R(\tau, \kappa, \tau, \kappa) = -|\kappa|^2$ at each point on the curve. In order to prove this, we fix *y*, and let q := F(y). Moreover, we define

$$u(x) \coloneqq \rho_q^2(F(x))$$
 and $v(x) \coloneqq 4 \sinh^2 \frac{\rho_q(F(x))}{2} - \frac{L^2}{\pi^2} \sin^2 \frac{\pi d(x, y)}{L}$,

where, as usual, ρ_q denotes the distance function from q. The function u satisfies

$$\begin{split} u'(x) &= (D\rho_q^2)(\tau), \\ u''(x) &= (D^2\rho_q^2)(\tau,\tau) + (D\rho_q^2)(D_\tau\tau), \\ u'''(x) &= (D^3\rho_q^2)(\tau,\tau,\tau) + 3(D^2\rho_q^2)(\tau,\tau,\tau) + (D\rho_q^2)(D_\tau D_\tau \tau), \\ u^{(4)}(x) &= (D^4\rho_q^2)(\tau,\tau,\tau,\tau) + (D^3\rho_q^2)(D_\tau \tau,\tau,\tau) + 5(D^3\rho_q^2)(\tau,\tau,D_\tau \tau) \\ &+ 4(D^2\rho_q^2)(\tau,D_\tau D_\tau \tau) + 3(D^2\rho_q^2)(D_\tau \tau,D_\tau \tau) + (D\rho_q^2)(D_\tau D_\tau D_\tau \tau), \\ u^{(5)}(x) &= (D^5\rho_q^2)(\tau,\tau,\tau,\tau,\tau) + (D^4\rho_q^2)(D_\tau \tau,\tau,\tau,\tau) \\ &+ 2(D^4\rho_q^2)(\tau,D_\tau \tau,\tau,\tau) + 7(D^4\rho_q^2)(\tau,\tau,\tau,D_\tau \tau) \\ &+ (D^3\rho_q^2)(D_\tau D_\tau \tau,\tau,\tau) + 9(D^3\rho_q^2)(\tau,\tau,D_\tau D_\tau \tau) \\ &+ 7(D^3\rho_q^2)(D_\tau T,\tau,D_\tau \tau) + 8(D^3\rho_q^2)(\tau,T,D_\tau D_\tau \tau) \\ &+ 5(D^2\rho_q^2)(\tau,D_\tau D_\tau D_\tau \tau) + 10(D^2\rho_q^2)(D_\tau \tau,D_\tau D_\tau \tau) \\ &+ 5(D^2\rho_q^2)(\tau,T,\tau,\tau,\tau) + (D^5\rho_q^2)(D_\tau \tau,\tau,\tau,\tau,\tau) \\ &+ 2(D^5\rho_q^2)(\tau,D_\tau \tau,\tau,\tau,\tau) + 3(D^5\rho_q^2)(\tau,\tau,D_\tau \tau,\tau,\tau) \\ &+ 9(D^5\rho_q^2)(\tau,D_\tau T,\tau,\tau) + 16(D^4\rho_q^2)(D_\tau D_\tau \tau,\tau,\tau,\tau) \\ &+ 3(D^4\rho_q^2)(D_\tau T,\tau,\tau,\tau) + 15(D^4\rho_q^2)(D_\tau \tau,\tau,D_\tau T) \\ &+ 18(D^4\rho_q^2)(\tau,D_\tau \tau,\tau,\tau) + 15(D^4\rho_q^2)(T,\tau,D_\tau T,D_\tau \tau) \\ &+ 18(D^4\rho_q^2)(D_\tau D_\tau \tau,\tau,\tau) + 16(D^3\rho_q^2)(D_\tau \tau,\tau,D_\tau T,T) \\ &+ 15(D^3\rho_q^2)(D_\tau D_\tau \tau,\tau,D_\tau \tau) + 15(D^3\rho_q^2)(D_\tau \tau,\tau,D_\tau D_\tau \tau) \\ &+ 15(D^3\rho_q^2)(D_\tau D_\tau T,\tau,D_\tau \tau) + 15(D^2\rho_q^2)(D_\tau \tau,T,D_\tau T,D_\tau \tau) \\ &+ 10(D^2\rho_q^2)(D_\tau D_\tau T,\tau,D_\tau \tau) + 10(D^2\rho_q^2)(D_\tau T,T,D_\tau T,D_\tau \tau). \end{split}$$

In particular, for x = y we obtain u(y) = 0, u'(y) = 0, u''(y) = 2, and u'''(y) = 0. This immediately implies v(y) = 0, v'(y) = 0, v''(y) = 0, and v'''(y) = 0. We next compute

$$u^{(4)}(y) = 8\langle \tau, D_{\tau}D_{\tau}\tau \rangle + 6\langle D_{\tau}\tau, D_{\tau}\tau \rangle = -2|\kappa|^2.$$

This gives

$$v^{(4)}(y) = u^{(4)}(y) + \frac{1}{2}u''(y)^2 + \frac{8\pi^2}{L^2} = -2|\kappa|^2 + 2 + \frac{8\pi^2}{L^2} \ge 0.$$

On the other hand, it follows from Proposition 2.1 that $v(x) \le 0$ for all x. Consequently, we have $v^{(4)}(y) = 0$. This implies $|\kappa|^2 = 1 + \frac{4\pi^2}{L^2}$ at the point y. Since the point y is arbitrary, we conclude that $|\kappa|^2 = 1 + \frac{4\pi^2}{L^2}$ at each point on the curve.

Since $|\kappa|^2$ is constant, we obtain

$$\left\langle \tau, D_{\tau} D_{\tau} D_{\tau} \tau \right\rangle = \left\langle D_{\tau} \tau, D_{\tau} D_{\tau} \tau \right\rangle = 0$$

This implies

$$u^{(5)}(y) = 10\langle \tau, D_{\tau}D_{\tau}D_{\tau}\tau\rangle + 20\langle D_{\tau}\tau, D_{\tau}D_{\tau}\tau\rangle = 0,$$

hence $v^{(5)}(y) = 0$. Finally, using Lemmas 3.1–3.3, we obtain

$$\begin{split} u^{(6)}(y) &= 3(D^4 \rho_q^2)(D_\tau \tau, D_\tau \tau, \tau, \tau) + 9(D^4 \rho_q^2)(D_\tau \tau, \tau, \tau, D_\tau \tau) \\ &+ 18(D^4 \rho_q^2)(\tau, D_\tau \tau, \tau, D_\tau \tau) + 15(D^4 \rho_q^2)(\tau, \tau, D_\tau \tau, D_\tau \tau) \\ &+ 6(D^2 \rho_q^2)(\tau, D_\tau D_\tau D_\tau D_\tau \tau) + 15(D^2 \rho_q^2)(D_\tau \tau, D_\tau D_\tau \tau) \\ &+ 10(D^2 \rho_q^2)(D_\tau D_\tau \tau, D_\tau D_\tau \tau) \\ &= -6R(\tau, D_\tau \tau, \tau, D_\tau \tau) + 12\langle \tau, D_\tau D_\tau D_\tau D_\tau \tau \rangle \\ &+ 30\langle D_\tau \tau, D_\tau D_\tau D_\tau \tau \rangle + 20\langle D_\tau D_\tau \tau, D_\tau D_\tau \tau \rangle \\ &= -6R(\tau, D_\tau \tau, \tau, D_\tau \tau) + 2\langle D_\tau D_\tau \tau, D_\tau D_\tau \tau \rangle \\ &= -6R(\tau, \kappa, \tau, \kappa) + 2|D_\tau^{\perp} \kappa|^2 + 2|\kappa|^4. \end{split}$$

Since *M* has sectional curvature at most -1, we have $R(\tau, \kappa, \tau, \kappa) \leq -|\kappa|^2$. Thus, we conclude that

$$\begin{aligned} v^{(6)}(y) &= u^{(6)}(y) + \frac{5}{2}u''(y)u^{(4)}(y) + \frac{1}{4}u''(y)^3 - \frac{32\pi^4}{L^4} \\ &= -6R(\tau,\kappa,\tau,\kappa) + 2|D_{\tau}^{\perp}\kappa|^2 + 2|\kappa|^4 - 10|\kappa|^2 + 2 - \frac{32\pi^4}{L^4} \\ &= -6|\kappa|^2 - 6R(\tau,\kappa,\tau,\kappa) + 2|D_{\tau}^{\perp}\kappa|^2 \ge 0. \end{aligned}$$

On the other hand, by Proposition 2.1, we have $v(x) \le 0$ for all x. Thus, we conclude that $v^{(6)}(y) = 0$. This gives $R(\tau, \kappa, \tau, \kappa) = -|\kappa|^2$ and $D^{\perp}_{\tau}\kappa = 0$ at the point y. Since y is arbitrary, the assertion follows.

References

- F. Almgren, Optimal isoperimetric inequalities. Indiana Univ. Math. J. 35(1986), 451–547. http://dx.doi.org/10.1512/iumj.1986.35.35028
- [2] H. L. Bray, The Penrose inequality in general relativity and volume comparison theorems involving scalar curvature. Ph.D. thesis, Stanford University, Proquest LLC, Ann Arbor, MI, 1997.
- [3] S. Brendle, Embedded minimal tori in S³ and the Lawson conjecture. Acta Math. 211(2013), no. 2, 177–190. http://dx.doi.org/10.1007/s11511-013-0101-2
- [4] _____, Minimal surfaces in S³: a survey of recent results. Bull. Math. Sci. 3(2013), no. 1, 133–171. http://dx.doi.org/10.1007/s13373-013-0034-2
- [5] ______, Two-point functions and their applications in geometry. Bull. Amer. Math. Soc. (N.S.) 51(2014), 581–596. http://dx.doi.org/10.1090/S0273-0979-2014-01461-2
- [6] C. B. Croke, A sharp four dimensional isoperimetric inequality. Comment. Math. Helv. 59(1984), no. 2, 187–192. http://dx.doi.org/10.1007/BF02566344
- [7] M. Eichmair and J. Metzger, Large isoperimetric surfaces in initial data sets. J. Differential Geom. 94(2013), no. 1, 159–186.
- [8] _____, Unique isoperimetric foliations of asymptotically flat manifolds in all dimensions. Invent. Math. 194(2013), no. 3, 591–630. http://dx.doi.org/10.1007/s00222-013-0452-5
- [9] M. Gromov, Paul Levy's isoperimetric inequality. IHÉS, 1980. http://www.ihes.fr/~gromov/PDF/11[33].pdf

- [10] M. Gromov, Filling Riemannian manifolds. J. Differential Geom. 18(1983), no. 1, 1–147.
- [11] G. Huisken, A distance comparison principle for evolving curves, Asian J. Math. 2, 127–133 (1998)
- [12] B. Kleiner, An isoperimetric comparison theorem, Invent. Math. 108, 37–47 (1992) http://dx.doi.org/10.1007/BF02100598
- [13] J. H. Michael and L. M. Simon, Sobolev and mean value inequalities on generalized submanifolds of ℝⁿ. Comm. Pure Appl. Math. 26(1973), 361–379. http://dx.doi.org/10.1002/cpa.3160260305
- [14] F. Schulze, Nonlinear evolution by mean curvature and isoperimetric inequalities. J. Diff. Geom. 79(2008), no. 2, 179–241.
- [15] L. M. Simon, Existence of surfaces minimizing the Willmore functional. Comm. Anal. Geom. 1(1993), 281–326.

Department of Mathematics, Stanford University, 450 Serra Mall, Bldg 380, Stanford, CA 94305 e-mail: sbrendle@stanford.edu ochodosh@stanford.edu